Indicator : 
DT OscillatorMTF (K & D)
ATR (default)
EMA (default)

For buy :

Signal rules : 
Previous candle (T1) : 
Based on DT OscillatorMTF, K = fast line, D = slow line
1) K cross up from 25 level  #last x number of K < 25
2)  K(1) < D(1) and K(0) > D(0)  

once the EA get signal, It will place buy limit order on the next open candle, and it will only valid for certain bar.

Entry rules : 
Current candle (T0) : 
1) Place buy limit order @ Highest high of the last three closed bars x 1.0015
2) Validity  =  1  #limit order will be open for 1 candle only

Once the entry is activated, It will have a initial stoploss level, which is  

initial stop loss : #Entry price – (ATR*MULTIPLIER) 

if the price are moving up (for take profit), it will be depend on 2 scenario, based on the value of current EMA vs previous EMA. 

Scenario 1 : EMA(0) >= EMA(1) #current EMA >= previous EMA 
Scenario 2 : EMA(0) <= EMA(1) #current EMA <= previous EMA

For Scenario 1 : EMA(0) >= EMA(1)
· There will be Fixed TP1 + Fixed TP2  + Trailing stop
· For Fixed TP1 + Fixed TP2  :
#Fixed TP = entry price + (ATR * multiplier)
#Fixed TP1 and Fixed TP2 formula are similar, just different of multiplier and lots % only
· For Trailing stop
#Trailing stop = based on lowest low of the last 3 closed bar (LL3) multiplied by 0.9985.
#activate after x number of candle 
#Note that the trailing stop is ignored until it is less than the initial stop i.e. the stop loss never gets larger than the initial stop.

For Scenario 2 : EMA(0) <= EMA(1)
· There will be Fixed TP1 + Fixed TP2  
#Fixed TP = entry price + (ATR * multiplier)
#Fixed TP1 and Fixed TP2 formula are similar, just different of multiplier and lots % only

However, if there is a high volality day, I need a emergency exit to overwrite all the take profit method above. I will name  it : big move mode
· BIG MOVE MODE = ON/OFF
 #If there is a high volatility day (high-low of candle) moving more than 2.0% of the open price of the candle, move the stop to lock in 75% of the day’s move.
For example : If candle open = 1.2800, big move threshold = 1.2800 x 2.0% = 0.0256, hence if high – low > 256pips, trailing stop will move to 75%. (H-L)x0.75

As the EA might receive signal and place another buy limit order while there is an open position, mean 2nd open position. So I need have a rules to protect the max risk involved, which is the 2nd or following open position only enable when the max risk for the 1st open position are below certain % 

when EA receive 2nd signal, It has to calculate the max risk involved in the 1st open position, if the remainer lot hits max stop loss.

So the formula should be :
Fixed TP1 + fixed TP2 (if any ) – SL / trailing stop <= x 
#if x = -0.5, mean the 2nd open position will activate if max risk for 1st open position =< -0.5% 
#if x = 0, mean the 2nd open position will activate if max risk for 1st open position <= 0% 



For sell : Vice versa


Input
--- EA setting ---
Max_open_position = 3 
Max_risk_1stposition = 0 #2nd open position will activate if max risk for 1st open position <= 0%
Magic number = 1111
Risk = by fixed lot size / risk_per_trade
Lot size = 0.10 
Risk_per_trade = 2 #2% risk per trade 

--- SIGNAL ---
--- DT OscillatorMTF setting ---
TF = 15/30/60/120/240/Daily/Weekly/Monthly 
PeriodRSI = 8
PeriodStoch = 5
PeriodSK = 3
PeriodSD = 3
MAMode = 0
AppliedPrice = 0
K_BUY_LEVEL = 25
K_SELL_LEVEL = 75
NUMBER OF CANDLE = 5 #k crossing down from 75 OR crossing up from 25 in last 5 candle


--- ENTRY ---
Number_of_candle = 3 #HH/LL of the last three closed days
Multiplier = 0.15 #1.0015 for buying , 0.9985 for selling
Validity  = 1 #limit order open for 1 candle only

--- EXIT ---
--- EMA setting ---
EMA_TF = 15/30/60/120/240/Daily/Weekly/Monthly
EMA_Period = 21
ATR_TF = 15/30/60/120/240/Daily/Weekly/Monthly
ATR_period =  7

--- initial SL ---
SL_MULTIPLIER =  2 #ATR* SL_MULTIPLIER

--- TP ---
--- SCENARIO 1 ---
TP1_MULTIPLIER = 1 #ATR* TP1_MULTIPLIER
%TP1 = 25  #partial close 25% on fixed TP1

TP2_MULTIPLIER = 2 #ATR* TP2_MULTIPLIER
%TP2 = 25 #partial close 25%  on fixed TP2

Trailing stop by candle = 3 #lowest low of the last 3 closed days (LL3) multiplied by X.
TRAILING_AFTER_X_CANDLE = 1 #trailing stop activate after 1 candle, and only if trailing stop value > initial SL value (for buying and vice versa)
Multiplier = 0.15 #1.0015 for buying , 0.9985 for selling
% trailing stop = 50 #remaining lot

 BIG MOVE MODE = ON/OFF #if on, all the remainder lot will be override with this mode
 % HL threshold =  2.0 #2.0% of the opening price 1.2800 x 2.0 = 0.0256 
Trailing stop level = 0.75 #(H-L)x0.75

[bookmark: _GoBack]--- SCENARIO 2---
TP1_MULTIPLIER = 1 #ATR* TP1_MULTIPLIER
%TP1 = 25  #partial close 25% on fixed TP1

TP2_MULTIPLIER = 2 #ATR* TP2_MULTIPLIER
%TP2 = 25 #partial close 25%  on fixed TP2

